SYDNEN GrIRLS H.S,

Year 11 Calculus Test (1)

L. Iff(x) = 2x° ~3x—4, find the derivative by first principles
2. Find & in the following:
dx

a) y= 3x*—45° b) y=Vx ) yzé
. X
d)y= (2x-5) e y=v34x ) y=2x1). Jx

2

x? -4 2x-1 . x> +2.
g)y=T h) y=——

2
3. Find —Z—{- in the following
X

a) y=2x*+3x+1 b) y=xx

4. Find the equation of the tangent and normal to y=+2x+1 atthe
. _— | \_4

5. Find the points on the curve " y = x* —4x® where

point (4,3)

N 6. Explain why the gradinet of the curve y=x"+1 is always positive
. 7. Find % in simplest form

9y= (x5 (raf by




SYDNEY GIRLS H.S.

Year 11 Calculus Test  (2)

- Iffx) = x* - 6x* - 15x +9, find any stationary points and their nature, any

inflexion points and sketch the curve.

~

: /
. State any asymptotes and sketch the cm)Les:/ /\,

/ 7

7.
: - i +
3 y= 2 foy=2

»
+
W
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3. Find the dimensions of the rectangle of maximum area if the perimeter is 20ems

4. Find the maximum volume of a cone if the sum of the radius and height is 30 cms

(Volume of aconeis V= %mzh

. Inabook, the pages are to have an area of 338 square cenfimetrqs

A margin of 1 cm is left at either side and a margin of 2cm is left at the top and
bottom. Inside the margins is the print area
Find the dimensions of the page so that the print area is a maximum
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